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QUESTION 1

How does SAP S/4HANA determine if a characteristic value is valid in Profitability Analysis?
A. By defining the characteristic value as a value field

B. By defining the characteristic value in the field catalog

C. By defining the characteristic value in the check table

D. By defining the characteristic value as a key figure

Correct Answer: C

QUESTION 2

How can you populate local variables in Profitability Analysis reports?
A. By populating from user parameters

B. By user exit

C. By Business Add-In

D. By user entry during report execution

Correct Answer: D

QUESTION 3

You want to setup integrated planning for your internal order. What do you need to do? Note: There are 2 correct
answers to this question.

A. Set the relevant indicators in the CO version.

B. Set the relevant indicator in the controlling area.

C. Set the relevant indicator in the planning profile of the order type.
D. Set the relevant indicator in the internal order master record.

Correct Answer: AD

QUESTION 4
You want enable WIP calculation in Product Cost by Period. What do you need to configure?

A. Settlement profile
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B. Valuation variant
C. Profitability Analysis (PA) transfer structure
D. Variance variant

Correct Answer: B

QUESTION 5

In SAP S/4HANA, you have decided to activate only account-based profitability analysis for your organization. You want
to settle costs and revenue of a sales order item to a profitability segment. What do you need to configure?

A. Source structure

B. Allocation structure

C. Cost component structure
D. PA transfer structure

Correct Answer: D
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